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Question Number : 1 Question Id : 813561641 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory

Vertical

. (5'}?)+ (13:@)_
sin 3 sec g

ol

Options:
V3
2 .

2

: No Single Line Question Option : No Option Orientation :
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Question Number : 2 Question Id : 813561642 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

n
S 9 10 . : i . A
If the coefficients of x” and x™ in the binomial expansion of (3 + E) are equal. then n =

AN
(3 + %) D668 1 308t 10 HE® HETL) VTFH2ANS 1 e Jod?

Options:
1 « 69

2. % 96

5 u B0

4. % 99

Question Number : 3 Question Id : 813561643 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

‘ . - ~ ' 3f ar
By neglecting x* and higher powers of x. find approximate value of Vx2 + 64 — Vx2 + 27

D x arorod b, Vil + 64 - Vx? +27 AI8), EZPA0RY) RS

Options:

1 — —x?2

234

2.¢
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1__.7_ 2
432
7
1 ——x?
3 % 32
7
1 ——x?
4 % 42

Question Number : 4 Question Id : 813561644 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

In a bank, the principal increases continuously at the rate of 6% per year. Then the time
required to double 6000 rupees is (in years)

8 EP{0) DR e 6% WYYD OID) o DeAXDAIE . ad 6000 ErIraben
6&2:::2) TIPS TTHVNR NaDoDAW (‘Sanbé’)d&nvﬁa )
Options:
S0 gt
3 08

1.

o -
> log

2 i3
e -

50
—log 12
4. % 3
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Question Number : 5 Question Id : 813561645 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

The point to which the origin should be shifted so that the equation y? — 6y —4x + 13 =0
is transformed to the form y* + Ax = 0 is

V2 — 6y — 4x + 13 = 0 208600 2 + Ax = 0 6rH30S' DS Ar6ITH08
307D 2 Dot HEL J6)ST?

Options:
6 (3, 1)

2 % (==1.,~1)
3¢ (1,3)

4. R (1, 8)

Question Number : 6 Question Id : 813561646 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

Find the equation of the right bisector of the line segment joining the points (3,4) and (—1,2).

(3,4) 0805w (—1,2) Docddywan &85 Baraotans) Vo ARG J “E6e0
Options:

1-J2.¥+_1’—5=0

5 % 2x—y+5=0
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3 x 2x+y+5=0

4 % 2x—y—5=0

Question Number : 7 Question Id : 813561647 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Geometrically. theset {zEC: |z — 2 — 2i] < 1} represents

(zEC: |z—2-2i] <1} 2DAS°D DocoaPo BDADH HOXD B3I Ardied?

Options:
a closed circular disc with center at (—2, —2) and with radius 1
NoD TS0 :)%_?;)D. §ﬁgmb {(—2.~2) 3‘55“20 ;

a closed circular disc with center at (2, 2) and with radius 1.

i Rodd JT"5"6 DTy0. SoBdw (2,2) a°5anga 1.

a closed circular disc with center at (1, 1) and with radius 0.5 .
~ Bogaw (1,1) 5‘55“9," 0.5 00 Vodyd JTS°6 D)o

a closed circular disc with center at (—1, —1) and with radius 0.5
So@aw (—1,—1) TG0 0.5 oD Vodyd HTT6 D)o

Question Number : 8 Question Id : 813561648 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
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If the probability for A to fail n an exam is 0.2 and that for B 1s 0.3. then the probability that
either A or B fails 1s €

28 D085 A B {6000 e@gm 5SS TS Rozrdjden SR 0.2 S8os 0.3.
O A Tor B H058" 6306 ST HrA8 dogrd(d <

Options:

> » 0.4

3.¢ 0.5

4. % 0.3

Question Number : 9 Question Id : 813561649 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

All the words that can be formed using alphabets 4, H, L, U, R are written as in dictionary (no
alphabet 1s repeated). Then the rank of the word RAHUL is

A H, LU R 0D &daaron (2 egdanr a;sbi’fﬁ Sot) &)s:sbb TETE) ;)Dl DGV
TADSENS &8 DASWVR) Do) AodYS"D $2DEAS’ 2081V, ‘RAHUL
DGH g §8) Qodd?

Options:
1 % 70

2.8 H

3 % /3
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i o'

Question Number : 10 Question Id : 813561650 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the eccentricity of an ellipse. if the length of its latus rectum 1s 4 units and distance
between 1ts vertex and the nearest focus 1s 3 /2 unuts.

T8 Vo ¢ 4 ardLD SHBokw %gma AoC. GG (o TAS v Grdaw 3/2
G BN, &8 BGS &) 0ed?

Options:
1

1.4 3

Question Number : 11 Question Id : 813561651 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The feet of perpendicular from the point A(1,0,3) to the join of the points B(4,7,1) and €(3,5,3) is

B(4,7,1) S0Basw €(3,5,3) 0k €05 B o8 A(1,0,3) od A Lo tan Suosw,

Options:

(5717)
ioX3" 87 8

Question Number : 12 Question Id : 813561652 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

%
Solve the equation 3" =25 —-4"

2z 2z
= & A —X
+

3 — 25 — DOEGHANIL 65D

Options:
—1 only

% —1 argd

2 only

5 % 2 O7rg

B 4

AP EAMCET 2020 )
collegedunia:s
India’s largest Student Review Platform

el



AP EAMCET 2020

Both —1 and 2
—1 Sodasw 2 Gnc.‘.)m‘l

No Solution

4% FOD S

Question Number : 13 Question Id : 813561653 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

(sin@ + cosec8)? (sinB — cosecB)?® 2020
If8 € (0%) then | (cos 8 + sec 8)? (cos@ —secB)? 2020| =
(tan 8 + cot8)? (tan@ — cot8)? 2020

(sin@ + cosec8)? (sinf — cosecB)? 2020
g € (0,—) 2900, | (cosf + sech)? (cos@ —secB)? 2020] =
(tan 8 + cotB)? (tan@ — cot8)? 2020

Options:
1. % 1

2. % —1

3.v 0

4 % 2020

Question Number : 14 Question Id : 813561654 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020 _
collegedunia:s
India’s largest Student Review Platform

el



AP EAMCET 2020

1 | V1+sinx+V1—sinx
J14+sinx—/1—sinx

The derivative of y = Tan™ with respect to x 1s equal to

1| v14+sinx+v1-sinx
J1+sinx—V1-sinx

y=Tan" ] 0, X Cfagg“ﬁ Y 0008, BOSVAAD =

Options:

1. % 1

Question Number : 15 Question Id : 813561655 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

( .1‘—4+ v
- g. ¥e
fOO={ a+b , x=4
5 4
W

If f(x) gtven above 1s continuous at x = 4, then find the values of ‘a’ and *b".

2 Wrdd f(x) & DBESVN DDA x = 4 36 ©ADD) 200 ‘@, ‘b’ LR BeYw.
Options:
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2Lwar:—l,b:
3 % ﬂ:l_,b:l
BL-n ==

Question Number : 16 Question Id : 813561656 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let the equation of the curve passing through the point (0, 1) be given by y = J et dx . If
the equation of the curve is written in the form x = f(v), then f(y) =
(0,1) Doty Moot T a8 58 PASBHAY ¥ = J x'e" dr . & 5 PO x =
f(y) ™ oene, @@ f(y) =
Options:

. % log |4y — 3|

_ e
G (log |[4v — 3]|)

. o))"
4. & logr}:s‘

Question Number : 17 Question Id : 813561657 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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The interval in which y = In(In(x)), x > 1 is decreasing is

x>1,y=In(In(x)) D ¥’ eI 9585763 HDDORAN?

Options:

Question Number : 18 Question Id : 813561658 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

-

fa=2i-3] -4k b=1i+4]-2k. T=31-] +4kthen.[dxb bxT Txa|=
T=21-3] -4k b=1+4]-2k. T=31-] +4kwowd, [Txb bxT Txa|=
Options:

1. % 4900

, % 6400

5 % 8100

4 12100

Question Number : 19 Question Id : 813561659 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Bill and George go target shooting together. Both shoot at a target at the same time. Suppose Bill
hts the target with probability 0.7 where as George. independently. huts the target with probability
0.4, Given that exactly one shot hit the target, what is the probability that it was George's shot?

D 0Bt 279 & RBD AP 28 VT(Y) w8 AWADAE” Bldot LS. DE 288 VT
0.7 Rorr@S 0ot &d 288 UF(R) 0.4 RowrdS Bed . 256 Irgd VE(Y)
B8ORS, b wg S0 20 doera(d

Options:
2

1.8 3

2
2.¢ 7

'-.Dl:—i

o |

Question Number : 20 Question Id : 813561660 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

; = I 3
If a, B,y are the roots of f(x) = x* — 9x% + 26x — 24. then; : E B are the roots of
$ ¥ A
fx) =x3—9x%2 4+ 261 — 24 D @, f,y Sroa00 o0, $o8 TS’ 2! ;w
QPRI (10 DO SVDoC..
Options:
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. 24x% +26x% +9x -1

5 o 240 — 26x° +9x—1

3 x 24x° +26x* —9x—1

4 u 28%% —260° 4+ 9% 11

Question Number : 21 Question Id : 813561661 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

sin(mw + x) cos (% - .1') tan (37}? - J\:) cot(2m — x)
sin(2m — x) cos(2m + x) cosec(—x) sin (—32—}T - .1‘)

If x # 0, then

sin(m + x) cos (E . 1) tan (3—211 < .1’) cot(2m — x) i

2
sin(2 — x) cos(2m + x) cosec(—x) sin (37” ¥ 1)

x # 0 008,

Options:
1.% 0

2.%’_1

3 v 1

4, ®
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Question Number : 22 Question Id : 813561662 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
. , @ .
If the area bounded by the parabola y? = 16ax and the line y = 4mx is 3 5 units. then

the value of ‘m’ 1s

2

a
y? = 16ax HoSVAHINS v = 4mx DEVE RN AWV Y STV F3 Alnle}6)
OSTPAL 0N, ‘M’ eI

Options:

1. % —1

Question Number : 23 Question Id : 813561663 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the maximum distance of the point K (10, 7) from the circle x% + y* — 4x — 2y —
20=0

P 4yt —dx — 2y — 20 = 0 358 K(10,7) Dockoid) Aooct (10 (1 SrE0

Options:
1, % 25

2, % 10
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Question Number : 24 Question Id : 813561664 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What is the quotient of x® — 5x2 4+ 2x + 7 when divided with (x — 1) ?

x? —5x% +2x+7 &0 (x — 1) § erhodRP HBy DFSI0

Options:
i ou b2
, % XX —4x+2

3 ® .1’2 + 4x + 2

Question Number : 25 Question Id : 813561665 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The equation of the line through the mtersectionof 3x —4y+1=0and 5x+y-1=0

AP EAMCET 2020

which cuts off equal intercepts on the axes 1s given by

3x—4y+1=0 28080 5x+y—1=0 26000 Potid Dotdey) Mot I

AFOTTOD VT BodNruR) D6yBEB HEWEH DG

Options:

¢ 23x+23y—11=0

> % 23x +23y+11 =0

3 % 23x—23y—11=0

4 % 23x—23y+11=0

Question Number : 26 Question Id : 813561666 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If 2 + 4i is one of the roots of x? + bx + ¢ = 0 with b,c € R. then (b,c) =

b,c € R 08050 x> + bx + ¢ =0 £ 2+ 4i 28 Joredw wand. (b,c) =

Options:
1% (4,—20)

, « (4, 20)
(—4,—20)

3. %
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Question Number : 27 Question Id : 813561667 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If a. f and y are angles that satistv the following conditions. find the value of xyz

@, B 208050 y Erreo $08 HALCETLD D23 AN, 1Yz e

a) tan(a) + tan(p) + tan(y) = tan(a) - tan(f) - tan(y)
b) x = cos(a) +isin(a)
¢) v=cos(f)+isin(f)
d) z = cos(y) + isin(y)

Options:
1. but not —1
;% L5 —15®

—1.butnot 1

, % —1, 5015 ®

Question Number : 28 Question Id : 813561668 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Find the equation of pair of straight lines that bisect the angles between the lines
represented by ax? + 2hxy + by? = 0.

ax® + 2hxy + by?* = 0 ArQed 6&3‘&1»:‘1&*’.2) &' RB(ED v Rooiorf),

2ADEBERAD BVDE.
Options:
x2+y? xy
1. ® a+b B h
x?+y? xy

AP EAMCET 2020

Question Number : 29 Question Id : 813561669 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let u and v be two vectors in a plane. Then any vector w n the plane can be written as

w = au + bv for some scalars ‘a’ and *b" if and only if

U,V ) 28 SV Toth DAILD. W & SVANG D A 28 VB3I, DT wBIW a,b v

O W= au + by Folroed es;ﬁéssan, wgm Q0D

Options:

None of u and v is a scalar multiple of the other

1 ¢ U,V ©e5° @ 2088 BABVE PSS AT (DEISAD S°IHT.
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None of |u| and |v] is a scalar multiple of the other
5 % lu],|v] ee5° D 2,88 HBBVE 7S AT (S SPEIrERD.

u and v have different direction

U, Ve S)e:)é‘lcs-‘é GO DEBL
3. %

u and v are perpendicular to each other

4 % WLV 08T DEEL o)A Sold

Question Number : 30 Question Id : 813561670 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let M and N be two invertible square matrices over R of order 2 such that N 1s diagonal.

Then MNM ™! is diagonal

M 8030 N e 2 X 2 8668 6" Soanen $BA argsen. a0 N a8 DE6 Srgs

GO MNM™ DSG SBS DA B BRY YWD

Options:
For all M
- M D DB ATBE 0D DD\

Only when M is a scalar matrix

5 M :{}uars TS won“\':‘Q)Dc:‘..) TS0

For all diagonal matrices M
2 M ey :)sg S8 0RO

AP EAMCET 2020
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M must be a null matrix
M B3PS0 DB)S 9Q[RR)ED

Question Number : 31 Question Id : 813561671 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

X =

f sin’(x) + cos®(x)
sin®(x) - cos?(x)
Options:

g sec(x) — cosec(x) + ¢

, w tan(x) + cot(x) + ¢

. cosec(x) —cot(x) + ¢

4, ® tan(x) — cot(x) + ¢

Question Number : 32 Question Id : 813561672 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

y+-

y+e dy
+e

= ,then — =

dx

+.

y+ey+ey dy
X =e VON., T =

dx

Options:
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Question Number : 33 Question Id : 813561673 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If @ and b are unit vectors such that @ + b is also a unit vector. then the angle between @

and b 13

T D 0hrdS 200D T 4D &rre 0rdES HO% Band 7 oo b © 206§ §maw =

Options:

1, % 60°

2,8 20
3. % 30°

4 120°

AP EAMCET 2020
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Question Number : 34 Question Id : 813561674 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

g dy -1
If vy =Cosec”*(x) and — —— . then
dx x| vx? -1

dy -1
y = Cosec *(x) Sodain ¥ , 900,
dx x| vaZ -1

Options:

" y € (—E,O)

e & y € (—%,ZJ’I)

; L 5 ~
ve(-20)u(od)
4'“_}’61‘?

Question Number : 35 Question Id : 813561675 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Angle between the lines of mtersection of the planes x —y =0, 2x+y+z=0and
2x—2=0,x+y—-32=01s

x=y=0 2x+y+z=0 000 Dotid B 2x —z =0, x + y — 3z = 0 L0
ocisd B8 Ao Eradw
Options:

60°

1. %
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Question Number : 36 Question Id : 813561676 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let O denote the origm. If M(1,2). N(0,1) and A(x, y) are pomnts such that xy > 0 and x +
y < 1, then choose the correct statement.

0 Juredocdd). M(1,2). N(0,1) 8050 A(x, ) DotoSHo 1y > 0 28asw 1 +y < 1
900N, $08 DIVTVS A Dedn?
Options:
A cannot lie inside AOMN
1 » AOMN &5° A Goded

A lies inside AOMN
5 % AOMN &° A o8

A lies only m the first quadrant
L 4 A DGO TS0 ArSDd eod

A lies mside AOMN or in the third quadrant

4 QOMN & A ol S J0rEd DBoS” A God

Question Number : 37 Question Id : 813561677 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The centre of a circle 1s (2, —3) and the circumference is 107, Then its equation 1s

Sogsan (2, —3) 208050 SyBH08 107 (o) 3yeh DaLEGEHD

Options:

e YA H6y+12=0
, % X +y —4x+6y+12=0
3. ¢ xP+y?—4x+6y—12=0
s x Xty —4x—-6y—-12=10

Question Number : 38 Question Id : 813561678 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

a*—1
lim

x—0 sin(x)

Options:

1. ¢ log(a)

11 (a)
— log(a
2. % 2
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Question Number : 39 Question Id : 813561679 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

| 6(n—1)(n=2)--(n-2020)+2n3+3n%+n
LetP(n): 12422+ 3%+t nf=— i ; ' , for

all n € N. Then which of the following is correct?

6(n—-1)(n=2)-(n-2020)+2n3+3n%4n

P(n): 1°+2°4+3% 4 g = z YneEN,
90D & $08 TS A DBAN?
Options:

P(n)istrue foralln € N

1% P(n) dud30VneEN

P(n)is true forall n > 2020
5 o P(n) dasn Vn > 2020

P(n)is true forall n < 2020
3 P(n) Qad ¥V n < 2020

P(n)is not true foranyn € N
4 % P(n) dadnscwoVneEN

Question Number : 40 Question Id : 813561680 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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If ﬂP4 = 1680 . then n =

"P, = 1680 ®and. n =

Options:
1.% 6

12

2. %

3. % 10

4.v 8

AP EAMCET 2020

Question Number : 41 Question Id : 813561681 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

let W=-21+2) + kand ¥ =1-2] +2k Thenangle between andv'is

=20 42] + kdoBow 7' =1 -2 +2k eawd, T 2080k 7o o[ Eniw

Options:
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[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



AP EAMCET 2020

Question Number : 42 Question Id : 813561682 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

3 2
: ; e , d d
Find the sum of the order and degree of the differential equation y = x (d_y) i d—i
X X

3 42
d d
y=x (d—D + d—; OISV VSO E); OEN Q80K SEABY AW =

Options:

Question Number : 43 Question Id : 813561683 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If a random variable X takes the values xy, x5, X3, ... ... X199 With probability P(X = x;) =
Ki(i+1),then 200K =

X Oﬂ?d;t:)‘hs Al X1, X2, X3, e X100 awéum émgmm P(X = "‘l} =K I(I + ].)
?’008;"&55&'3&) §OR0I0A M. 200K =

Options:
1

1. % 1707
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Question Number : 44 Question Id : 813561684 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If f:R = Ris defined as f(x) =

f[:R-R, flx)=

Options:

| % 4040

, 4039

3 = 2020

4 % 1010

4039
2020"

2020*

2020%* + 2020

2020% + /2020 ’

4039

¥ x € R, T Q6(Qotdedced Z 2)‘

Y x ER, thenZ 2f

4040)

4040

Question Number : 45 Question Id : 813561685 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For a right-angled triangle having the lengths of two sides as 2/2 and 5. find the length of the third side.

28 VoSt QRIBANS’ Botd) ZoRaw T 242, 5 ond Jards Hadw TES) dvsed.
Options:

4+/2

Question Number : 46 Question Id : 813561686 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The coefficients of x5 in (1 + ) (1 — x + x2)*%% s

(142" (1 —x+x2)™ 6" x50 tmeaw

Options:

1.*“1
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Question Number : 47 Question Id : 813561687 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

n+ lc
r+1 n—r+1
= .thenm =

n+1i m
CT'

n+1c
r+1 n—r+1
= 0. M =
n+lc m
-

Options:

Question Number : 48 Question Id : 813561688 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The Parabola with directrix x + 2y —1 = 0 and focus (1,0) 1s

(1,0) ST, x 4+ 2y — 1 = 0 QoDAVDMAT (1) DOTHLAED

Options:

.t 4x? —4xy+y* P —8x+4v+4=0
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5 % 4x% + 4xy + }-’2 —8x+4y+4=0

3 4x° +4xy+y*+8x—4y+4=0

4, %

L A4x? —4xy+y*—8x—4y+4=0

Question Number : 49 Question Id : 813561689 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What 1s the formula for finding co-efficient of variation. given ¢ = standard deviation and

X =mean # 0?7

DOVT 080 SAVF WL ArSAw

= Qﬂosmﬁsmn £0)
Options:

x 100

a | = a | =

><||0|

X 100

H;IQ

(8),6 0 = rareds ddwdo dakw

Question Number : 50 Question Id : 813561690 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

\ ( 231?) t(EJ 13w B
ol ol

Options:

1 % V3 + cot 8

. i V3 — tan (% + 9)

3 % V3 + tanf

48 V3 + cot (% — 8)

Question Number : 51 Question Id : 813561691 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

~ N , . o 4 . ! '
If "C, denotes the number of combinations of ‘n” things taken ‘r” at a time, then the

expression ' C a8 T “C?_l + 2"C, equals

: C, ORI ‘n” SRAPY Aow 7" SRAPY W)W VRN S0y VAT RO
v 5, N n n .
), €+ C_ +2°C =

Options:
T1+2(:

1. % "

n+2 C

> r+1
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Question Number : 52 Question Id : 813561692 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

224 4% + 6%+ -+ (2n)?
lim 2 =
n—oo n

Options:

m|c..u ml-r:- w|m

< |

Question Number : 53 Question Id : 813561693 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Find the degree of the differential equation _1-’3” e iy N 3y, +y, =0.

_v;"" 1243y, +y, = 0 05803 PSR S6AS BeniPAW.

Options:
+

1.8

Question Number : 54 Question Id : 813561694 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

2 2
s ey : : -4, : .
For the ellipse e ' i 1. if a tangent with slope T mtersects the major and minor axes at

P and Q respectively. find P and Q

2 },2

X -4
i 1 865,508 T T 0 28 SNAEEY ATER) DBA T P ook

Q DoV’ Poda), & P, ) Doty SERIT

Options:

.« P(6,0), Q(0,8)
2. R P(Oré) ’ Q(Bv 0)

5 % P(3v2,0), Q(0,4V2)
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4 » P10, 3v2), Q(4V2,0)

Question Number : 55 Question Id : 813561695 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The mean of 5 observations 1s 15 and variance is 9. If two observations having values
—5and 13 are combined with these observations. then what will be the new variance?

5 HBBVT 0V (10 GTPeFANIL D070 Dewd 15 2oty DS 9. & GTreT IS

=5, 13 980 0ot 0TV BO\D, AP BTPoFAN AE) YD (Hrdotioaw.

Options:
6259

1.% 7

6259

2659

2659
4. 49

Question Number : 56 Question Id : 813561696 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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If r =mradis, A= Area of AABC. s = semi-perimeter then which of the following 1s true?

ABC 870208’ r = @od9d q&g;&n, A= gzba T, s = 08 WinEed vans,

& Sob T8¢ DO B[
Options:
1 A=r+s
-
A=—
2, % -
.
2 ® A= (rs)
4&?&:15‘

AP EAMCET 2020

Question Number : 57 Question Id : 813561697 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Maximum area of the rectangle that can be formed with the fixed perimeter ‘p* cm

'’ em R8RS o GEBATVE” (8 DTURIW (o BEIAEH DTUw

Options:

a8
P
— cm?
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Question Number : 58 Question Id : 813561698 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let a,b € R — {0}, and I, be the identity matrix of order 2. Then the rank of the (block)
al, ble

15

mafrix I“ fz b 12

a,ben wﬁﬁad TR VoD 200050 [, 9 25 S6MS 0P STPSS 0NN,

ﬂlrz b[z
ﬂfg b.trz

l aI8), §8) dudod.

Options:

_ i
1,9

'J-J

4. %

Question Number : 59 Question Id : 813561699 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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If y = V3x 4 k; and y = /3x + k; are two parallel tangents of a circle of radius 2 units,

then |k, — k| 15 equal to

2 Qe TIGANMT 0 28 HTI8 y = V3x + ky 208050 v = V3x + ky 00 Botd
RTS8 Ry6\02e0 o |ky — kof =

Options:

1% 1
2.« 8
3 %

4, %

Question Number : 60 Question Id : 813561700 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Letu =i —2j andv =—31 + 5] . Consider three points P, Q and R having
ik g B S - s ; . .
position vectors — i, — j and —21i + 3 respectively. Among these. the points in

the line segment passing through u and v" are
=1-2].7=-31+5] P,Q,RDocoido 4 witen dasmrr —~1,-77 .
“20 43] w0 T, 7 0 & $ek) 8 Modan i P Do & D Hoco.

Options:
Only P and Q
g P 208050 Q Sogad
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Only P and R
P 258050 R 383

Only Q and R
. 5 Q208050 R 2@

all P,Q and R

. u Bl R

Question Number : 61 Question Id : 813561701 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

] dx -
cos2(x) + sin(2x)
Options:

1 .
> log |14 2cos(x)| + ¢

1. %

1 -
—log |1 — 2tan(x)| + ¢
2.% 2

1 .
- —log |1+ 2tan(x)| + ¢
3.¥ 2

1
— log |1 + 2 cot(x)| + ¢
a.% 2

Question Number : 62 Question Id : 813561702 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the equation of circle having normals (x — 1)(v — 2) = 0 and a tangent 3x + 4y =67

3x+4y=6 ro_)d;;c'iaarmr (x=1)(y—2) =0 oo SMTF 0 o EBA0
Options:

v x—-1)*+(-2)2%=1

. -2+ -1)2=1

;% D+ +2)° =1

4 u BF 22+ (y+1)?% =1

Question Number : 63 Question Id : 813561703 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the lines 3x + v —2 =0.px + 2y — 3 = 0 and 2x — y — 3 = 0 are concurrent. then p =

3_1' -|- ; 2 = U' pX + 21? s 3 = 0, 2){ =g 3 — 0, £9A)) ﬁd'&’aww tﬁé)ﬂ'g‘_’“w @wap p =

Options:
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Question Number : 64 Question Id : 813561704 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A circle passes through the centre of another circle x? + y* —3x — 4y — 1 = 0 and
whose centre 15 (5, 2). Then the equation of this circle 1s

vt 4yt —3x — 4y — 1 = 0 35850830 Mot ' (5,2) So@A0rr e 5y
REBEB BLLHAD.

Options:

» 4x% 4+ 4y* —40x — 16y + 67 =0

, » 3x* +3y*—40x— 16y +67 =10

2 % 2x% 4+ 2y%? —40x — 16y + 67 =0

4. B x4+ },2 —10x —4y 4+ 67 =0

Question Number : 65 Question Id : 813561705 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
If 2f(sinx) + f(cosx) = x then f'(x) =
2f(sinx) 4+ f(cosx) = x oS f'(x) =

Options:
1

1- \/ '\-'I.].‘_xz
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Question Number : 66 Question Id : 813561706 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

. : —— (x) . : . : —
Reduction of proper fraction f— into a sum of partial fraction depends up on factorization

—— D) 00 FES D) 00 ST Tohe)

g(x)
of
f(x)
g9(x)
:Ja;sam:smng B0
Options:

f(x) alone
o f) e

g(x) alone
(x) S0

2. v 9

both f(x) and g(x)

3

. f(x) 208050 g(x) 0 BodotdDd

AP EAMCET 2020
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factors of f(x) and g(x)

2 0 f(x) 083w g(x) © S°CEFosS VD

Question Number : 67 Question Id : 813561707 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

logs 729 log; 5

logs 5 log,; 5
log: 27 logg 25 "

log:9 log:9

~

The value ot

L

15

log: 729 log; 5
log: 27 logg 25

logz; 5 log,;5

" logc9  logs 9

Options:

3 % log: 9

4 o (0835) x (logs 81)

Question Number : 68 Question Id : 813561708 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the chord of contact of tangents from a pomnt A to a given circle passes through B. then the
circle with AB as a diameter will

w8 SyBan cae,gﬁ A Dot A6 B Do) (ot 'S, AB (RS0 iR Hyddw
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Options:
Touch the given circle mternally

. % ':nf)l)a‘) é‘;g“:)l e90edGorm ""robb%‘:ma&

Cut the given circle orthogonally

g BN D)T°Y) Vool oo

Touch the given circle externally

3 "Qt:)()é Sﬁgg":}ll &J‘R’J"ﬁoﬂ“ "rohy?*'n_pa&

Neither intersect nor touch the given circle

'aa)a«'\‘) bag“:}l ‘SJN'?GGSGSJ, oG oI
4. %

Question Number : 69 Question Id : 813561709 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If f(x) =e*; g(x) =In(x) forall x € [1, ). then fog is

[1,0) o380 f(x) = e*; g(x) = In(x) ®and. fog

Options:
A one-one function
w8 @555‘-;&»

P

An on-to function

, 5 WS ROERB0

Not a function
w2000 BPED

AP EAMCET 2020 )
collegedunia:s

India’s largest Student Review Platform

el



AP EAMCET 2020

Bijective

B e HI0CDHA
PR

Question Number : 70 Question Id : 813561710 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The direction cosines of the vectora = —2i + j — 5k are

@ =-21+ ] —5k 0% wws), 85 §poe

Options:
- £ =5
1 b 4 \/ﬁ?\/ﬁr'\;ﬁ
= N

5, « V307 V3030

4 % V30 V30'y30

Question Number : 71 Question Id : 813561711 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

] (x +1)° -
x(x%2+1) e

Options:
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- log [x(x* +1)] + ¢

, » loglx| +c

; —y
5 log |x| + 2Tan™*(x) + ¢

4% 2 log |x| + Tan"1(x) + ¢

Question Number : 72 Question Id : 813561712 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
The locus of a pont P such that PA + PB = 4 where 4(2,3,4),B(-2,3,4) 15

A(2,3,4),B(-2,3,4) Dotopws PA + PB =4 ?.90'335?.7“ 0o P Dotey) Dot
Options:

, w Y +z°+6y+82+25=0

5 % y2—z?+6y+82z—25=0

yv24+2z2—-6y—8z+25=0
3. ¥

g u Ytz —6y—82-25=0

Question Number : 73 Question Id : 813561713 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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If (24 1) 1saroot of the equation x® —5x% 4+ 9x — 5 = 0. then the other roots are

X =5x2 49 —5=0% (241) 2rosm ©and DAY Areanen Sei)aw.

Options:
1and (2 —1i)

| 1208030 (2 - 1)

—1and (3 + i)

5 % —1 S0dasw (3 + 1)

Oand 1
5 % 0 30d0sw 1

—1and (=2 + i)
_ —1 208030 (—2 + 1)

4, %

Question Number : 74 Question Id : 813561714 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The locus of the point whose ratio of distance from the origin to its distance from (-2, —3)
15 5 ¢ 7,15 given by

0NN B0 (-2, —3) Do (o Grore DQDQ D17, @0335&)@.51) %ot
Dotirig) G, Dotk VaEBEAN

Options:
G 24(x% + y*) — 100x — 150y — 325 = 0

, » 24(x* +y%) +100x + 150y — 325 = 0
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5 » 24(x* + y%) — 100x + 150y + 325 = 0

4 % 2x* +2y* =325

Question Number : 75 Question Id : 813561715 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The possible value of sin®(8) + cos®(8) — 3 cos*(8) is

sin®(8) + cos®(8) — 3 cos*(0) 5‘@5:.’)&“. DS

Options:

1.*“2

Question Number : 76 Question Id : 813561716 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In AABC. £A = 90° and co-ordinates of points B and C are (2,—4) and (1,5). Then the
equation of the circumcircle of AABC 1s

AABC &° 24 = 90° 508080 B, € Dotadyen Sdvore (2,—4) 208as (1, 5) eans, AABC
0308), 838 HeDLCRY

Options:
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5 % £ y* 1349+ 18=10

, & FAF =3y~ 18=8

3 o AT =3y 1B=D

4 % x2+yv2+3x—y+18=0

Question Number : 77 Question Id : 813561717 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the pair of straight line given by Ax? + 2Hxy + By? = 0. where (H? > AB). forms an
equilateral triangle with the line ax + by + ¢ = 0.then (A + 3B)(34 + B) =

Ax* + 2Hxy + By = 0 2ovBarabor 8 (wye (H* > AB) 2080k ax + by + ¢ =
0 DE¥B 28 VATV GZoard) Doja;_:, ©\@ (A +3B)(34+B) =

Options:
. v 4H’

, i 2H”

2
3. % —2eH

2
4, % —4H

Question Number : 78 Question Id : 813561718 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

/4

J tan®(x) dx =

0

Options:
T
1. % 4
T
——
2. % 4
T
1] — —
3. v 4
4, ® D

AP EAMCET 2020

Question Number : 79 Question Id : 813561719 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the equation x2 + 22xy + 2y% + 4x + 42y + 1 = 0 represents a pair of straight lines

which are parallel to each other. find the distance between them 1s

2+ 2920y + 292 + 4x + 42y + 1 = 0 2208080 28 DATSS Garaorr) ) AR,
¢ 00 Mﬁ GG wodh?

Options:
4 units

| w4 0RO

2 units

5 o 2 orALD
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243 units

3 % 2v3 O30PED

4+/3 units
. 4+/3 o ew

AP EAMCET 2020

Question Number : 80 Question Id : 813561720 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
—. 300

L@ eloam" =

Options:

300
1. % 2

301
R

| 2100
3. "

300
4. % 2

Section Number:

Mandatory or Optional :

Number of Questions :

Physics

2

Mandatory

40
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Number of Questions to be attempted : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes

Question Number : 81 Question Id : 813561721 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The S.I unit of length is “meter”. Suppose we adopt a new unit of length which equals x

meter. Then, the area of 1 m* expressed in terms of new unit has a magnitude

T g, S.I. DAFHA0 M. 2EIY TEPHD 28 §S HAPHAVT 1 DGO

SRS 0. YW 1m” PTeje §8 DArmud’ HBArH0 Jod?

Options:

Question Number : 82 Question Id : 813561722 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The central fringe in the mterference pattern obtamed i Young's double slit experiment will
be a dark fringe when the phase difference between the waves from the two slits 1s

oo 20t DS HAFAALS' DAY S(BE0 JP(EPaLS” Soats O DB D TITRRY.
e Dot DDLR odk Iy BGorTR 06| GotdBNY GTHELN Jod?

Options:

1.3‘*0

T
2. % 2

3. w It

ml:l

Question Number : 83 Question Id : 813561723 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Two balls X (2 kg) and Y (4 kg) approach each other with equal speeds of 10 m.s™*. If the
collision 1s perfectly elastic. the new velocities of X and Y balls are respectively

Both) wodowd X (2 kg) 2080 ¥ (4 kg) 28a°D ) TS 10 m.s™* 220daS
RDOIR0T) 000, T oGS DBPG DOFE DB 2OH BOTS X,V odow

TR HEAMT ,
Options:
50 =34
— m.s™t, — m.s7?
1.8 3 3
2.8
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3.Y

50 -
—m-

4, 8
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3
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Question Number : 84 Question Id : 813561724 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The moment of mertia of a rectangular plate of mass M. length L and breadth B. about an axis
passing through its centre and perpendicular to its plane 1s

Sogio ol J'Ar $erJ8 Voo &) BLede M @503, L T, B ey o &Y

AT CRY DVS BEA TS0 e

Options:
M(L+B)
PR 12

M(L?)
12

M(L*+B?)

3¢ 12

M(B?)
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Question Number : 85 Question Id : 813561725 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A train of 150 m length is going towards north direction at a speed of 10 m.s™. A parrot
flies at the speed of 5 m.s™* towards south direction parallel to the railway track. The time

for which the parrot flies alongside the train is

150 m © Tekyio w8 Jow G306 P 10m.s™" H6S ALY B. & Joo s
NAToBBANT BEETAE DY w8 DS 5m.s7L S DR B BRS AK. VAV
Qe$ Bk TS dod S0 DEIR?

Options:

) B 30 s

3. ¢ 105

4.% DS

Question Number : 86 Question Id : 813561726 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Two 1dentical thin bar magnets. each of length ‘I° and pole strength *m’. are placed at right
angle to each other with north pole of one touching south pole of the other. The magnetic

moment of the system 1s

T T, ‘m Gy50850 $DAR 28 65209 Bt DU Boté VALY 0BV 2EEREEE
Vool B0I 28T &SV Gydo, DT 326 BT TSP Golier ot e,

AN & DD A8 ONF) 08 EPSo Jod?
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Options:
1 % 051Im

, x Ilm

3 x 2lm

4_Jﬁlm

Question Number : 87 Question Id : 813561727 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A charged cork ball having mass 1 g and charge ‘g’ 1s suspended on a light string in a uniform
electric field as shown in figure. The ball 15 1n equilibrum at 6 = 37°, when value of electric

fieldis E = (3 i+ 5?) X 10° N.C™* . Assume T as tension in the string. Which of the
following options are correct? (given sin 37° = 0.60 and g = 10ms™%)

1g 85073, ‘g 830 (0 2,8 5°6); 1o HOAW WrDdD JHAVT 28 AE0S S £3A0E"
29)0 &0 o docdabuds. dd £8 JwdE =(37+5)) x10°N.C™*
&))@, B = 37° 5 wod A3y ?.38 & &) 8. gAY 80 T wowd SoBT S’ 20
008 d&? (sin37° = 0.60 2808 g = 10ms™2)

LSS,

Options:
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% q=11x10"8C

= =
5 T =HGH RN

. x @=12x107°C

4 x T=455%X1073N

Question Number : 88 Question Id : 813561728 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

An automatic gun fires 360 bullets per minute with a speed of 360 kmph. If each bullet
weighs 20 g. the power of the gun 1s

w8 2068038 DBVASVDL 360 Mogdd DLy, DL0IE HO e Jidw 360 kmph

28 ot B3(0°3 20 g B 268038 avmgsm Dod?

Options:
1 % 75W

, % 150 W
5 % 300W

Question Number : 89 Question Id : 813561729 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Wein's displacement law states

DS FBz0s DoBJW

Options:

AnT = constant

AT = QU080
2 >

A

T’" = constant

A

% = Q008D
2.8 ¥ %

T

— = constant

Am

T 3

— = AT0S5D
3. % 4m @

An + T = constant

Ap + T = Q00880
4, % ‘“

Question Number : 90 Question Id : 813561730 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Water 1s flowing through a horizontal pipe i streamline flow. At the narrowest part of the pipe

£02 Daredd Fuaw T A TTB DT ErANS’ Gotl, 0O ) D i S

Options:
Velocity 1s max and pressure 1s min
DA ABRMN DEDIN SIRBW
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Pressure 1s max and velocity 1s min
, DEDB0 ABHED DB SR/

Both pressure and velocity are max
L EDBE 2080 Drren B

Both the velocity and pressure are min
| DB 08050 ETeD SI[AWD

Question Number : 91 Question Id : 813561731 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the wavelength of a photon is 4000 A. then its energy will be

28 TerS cing); d6oiBgo 4000 A ©ad, D 33 Jod?

Options:
10-19
1« 495 x 1077 7

, % 595%x107% 3

3 % 395%x1071 ]

4 % 695%107° 3

Question Number : 92 Question Id : 813561732 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

An 1deal heat engine has an efficiency ‘n” the coefficient of performance of the engine when

driven backward will be

w8 ©06) 62 ADodw BES N’ T DLW DS Sairdve Hrsiw

Options:

-~

1. %

Question Number : 93 Question Id : 813561733 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A body of mass 5 kg acquires an acceleration of 10 rad.s™* due to an applied torque of

2 Nm. Its radius of gyration is

5 kg @(0°3 (1L 28 S, 2 Nm wwakor) w5 SOOI AR, 10 rad. g

Sedatd S0 Todov. &8 Sk B0 TG0 dod?

Options:
1% 25m

5, x V2.5m
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3 % v0.2m
0.2m
Question Number : 94 Question Id : 813561734 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If 100 N force 1s applied to 10 kg block as shown i the diagram, e = 0.6, 1 = 0.4
the acceleration of 40 kg slab 1s
: 100N «—10kg /
D008 trad Ador 100 N werdy 10 kg B0} HarAow,
40 kg B0) ) &m0 s
Options:

1 % 1.65 m.s™2

, » 098 m.s ™2

-2
3 % 0.5 m.s

4 % 0.25 m.s™*

Question Number : 95 Question Id : 813561735 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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In a rocket, fuel burns at the rate of 1 kg /s. This fuel 1s ejected form the rocket with a
velocity of 60 km/s. The force exerted on the rocket by this 15

28 T5L06° Qotido (IPRBD 1kg/s. & Rogdo TE M0oé 60 km/s Sriod waHL
D0DEEIS06. RE &8 TED dod LT HOIFARVE?

Options:
1. % 60N

, % 600N
. % 6000 N

, v 60000 N

Question Number : 96 Question Id : 813561736 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The rate of radiation of a black body at 0 °C is E J.s~*. The rate of radiation of the black
body at 273 °C will be

0°C 36 $ya S0 D86e Bew £ T.s 72, 273 °C 368 &2 3103 Do 86 od?

Options:
. x EJs?

5, x 4E Ls™
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Question Number : 97 Question Id : 813561737 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If a source is transmitting electromagnetic wave of frequency 8.2 X 10° Hz. then wavelength
of the electromagnetic waves transmitted from the source will be

w8 2SI DAV B AEAIY 08 Bortit TP 8.2 X 10° Hz wowd, e

280 DEGL (DVBEDED) BR 3(&)5{50&3%::@ (2 JolTaN WD édodggﬁm BVDG.

Options:

2 % 40.5m
3 % 423 m

4 % 90.9m

Question Number : 98 Question Id : 813561738 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The power utilized when a force of (2? +3j + 4?{) N acts on a body for 4 seconds.
producing a displacement of (3? + 4} + 57;:) m. 1s

208 50 D6 (27 +3] +4k) N werdy4 280000 DOy & 330
(31 +4j +5k)m Fdzioto Boc. & IS GHAFHED aomgéa Dodh?
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Options:
| v 95W

2- % 7.5W
3 % 6.5W

4% 45W

Question Number : 99 Question Id : 813561739 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A copper wire of radius 0.1 mm and resistance 2 k< 1s connected across a power supply of 40 V.
The number of electrons transferred per second between the supply and the wire at one end 1s

0.1mm a"ga“gn 60, 2 kQ Jrird DB £0AD ws ooh S 40V Z)m@ 258

SRUDEAR. DANS DTN Aok S VoL 28 VSWS” PITOB VTR od|

Options:
. 2.00 x 10*¢

:
17
5 o 25X 10

5 % 285X 10"

4 % 325 x 10'°

Question Number : 100 Question Id : 813561740 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In a thermodynamuic process pressure of a fixed mass of a gas 1s changed 1n such a manner
that the gas releases 30 J of heat and 10 J of work was done on the gas. If the initial internal
energy of the gas was 30 J. then the final internal energy will be

w8 GBS aqges" 0 03808 BA0E VN w8 T 307 r,—:g:)l DWAE B, €3
T30 107 3 Sosbeadt orr &5 6] ), AEIT) ST, 8 T &
o808 35 30 ] oS, T S0 ©odS 3 BVDC.

Options:
1.% 2]

, « =103

5 o 20

4 % 5817

Question Number : 101 Question Id : 813561741 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A gas is compressed from a volume of 2 m? to a volume of 1 m® at a constant pressure

of 100 N.m™2. Then it is heated at constant volume by supplying 150 J of energy. As a
result. the nternal energy of the gas

20 DRI 100 N.m ™2 3¢ 2,8 Trakoi 0BAreaw 2m® 2ol 1m® e
RoDEDDN BoBIB. BN D6 IDOITHAN S ToWYL 150 38D Bobod

SEAFD. o DYSJT Toi0Y BodES
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increases by 250 J
1« 250 J D80

decreases by 250 ]
. 250 J &0
2 N

decreases by 50 J

50 J S50
3. % i

mcreases by 50 J

4w 50 T DO

Question Number : 102 Question Id : 813561742 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A poimnt mass of 10 kg 1s placed at the centre of earth. The weight of the point mass s

ZrSolo 56 10 kg 60 28 Dotdd gaév% Gotrd. & Dot g.‘bgu'*% as), &PGo ood?

Options:
Zero
) ’6\5"655::

1. ¥
, % 98N
3 % 49N
4 % 10N
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Question Number : 103 Question Id : 813561743 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A stone falls freely such that the distance covered by it in the last second of its motion is
equal to the distance covered by it in the first 5 seconds. It 1s i air for seconds

T S0t DEXARDY w8 Tow B VEY" Hoirededd Arddn b 2w 5 e’
DOIrtdold GrTEAS DA, & M’ Gotd 58w g

Options:
12

1, %

2 v 13

3. % 29

4. % 26

Question Number : 104 Question Id : 813561744 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The wire of potentiometer has resistance 4 Q and length 1 m. It 1s connected to a cell of e.m.f
2V and mternal resistance 1. The current flowing through the potentiometer wire is

TOYair Dtb aiws), & e 4Q Sobaty T 1m. 96 1Q wosd) Beo, 2V Meberys

o (i) wseaﬁeb SR, B, & TEIA Q66 & ot PS3iToid QRS o Jod?

Options:
1 % 0.1A
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, % 0.24

5 v 044

4 % 084

Question Number : 105 Question Id : 813561745 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If a pressure of 8 X 10° N.m ™ is applied to a lead block so that its volume reduces by 20%.
The Bulk modulus of lead block 1s

w8 DR B 8 10° N.m™? e SunriBainndes ndarncd’ 20% 8hod.
BOR & DALY B TS, GIET MOS0 Jod?
Options:

, % 4X10" N.m™2

, % 4% 10%® N.m™?

3 & X 10° N.m™2

4 n X 101 N.m™?

Question Number : 106 Question Id : 813561746 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A shot 1s fired from a point at a distance of 400 m. from the foot of a tower 100 m high. so
that 1t just passes over it. The direction of shot with respect to the horizontal s

100 m &0 (0 28 TEDD QArdo e JtSo Aot 400 m ErGed” (10 w8 Dot 16
06 wE Mo ::Baa:;;m. 00 3 ".gr:Jo N (e ESan". T°S8000) TP08). 0.
£30AT0d00 Q}?}S 3 (Do) DO\D B8 Bodod.

Options:
1.® 30°

2. x 60°

Question Number : 107 Question Id : 813561747 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The unit of magnetic induction is

€903),08 2068 DATEIAL

Options:
-2
1« Wbm

2 Wbm_l

4. & Wb
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Question Number : 108 Question Id : 813561748 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A 100 V battery 1s connected across the series combination of the two capacitors of 4 [F
and 8 |IF. The energy stored in the series combination 1s

4 UF 08050 8 IF o Goc ot 336" 100 V w°5a8§ SUVDWAEID. LoD 363
Rorrd08” dodd 8§ Do) Giotiod?

Options:
« 0.75 %107%7]

1..™
5 o TATM Mg
3 % 057

x u 52

Question Number : 109 Question Id : 813561749 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The maxmmum force acting on a particle executing simple harmonic motion 1s 10 N. The
force on the particle when it 1s midway between mean and extreme positions will be

ROV T8 évaa»é‘mf’oel S8 SHRANY DB (63 wodw 10 N eond & seadw
AR0g); SrB[RLS, Bodf FTVL DO 0GB W) W TP WO

Options:
1. 8 10 N
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Question Number : 110 Question Id : 813561750 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A 0.5 kg block of brass (density = 8 X 10° kg.m™® ) is suspended from a string. What is the
tension in the string if the block is completely immersed in water? (g= 10 m.s™2)

28 0.5 kg @dd 82 (Fogd = 8 X 10° kg.m™) gred Aooct Hercdabedds. b

PO NBE" S ool g0l Bs (2= 10m.s7%)

Options:
1.,% ON

Question Number : 111 Question Id : 813561751 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Choose the wrong statement to complete: An 1deal solenoid has

S0ATVS’ DB 5° DDA DotddE HoA: 03056, D OToné &

Options:
the turns widely separated

1 o LD AOCoIT &0l

the turns closely wound

5 % mg» cbgdn‘ GotIPON)

the length 1s very much greater than the radius

5 3‘55“9};&1} 808l TED T S D

the magnetic field inside almost uniform

4 % D00 ©0DIY 08 EBI0 DSBSV

Question Number : 112 Question Id : 813561752 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A solid cylinder of mass ‘M’ and radis ‘R’ rolls down an inclined plane of length ‘L’ and height
‘h’, without shipping. Find the speed of its centre of mass when the cylinder reaches 1ts bottom?

‘M 9;550“?, ‘R’ a“?sé‘gm: (0 w8 0 ‘%J"SJ&D 28 ‘L’ TEY), ‘h D (0 TP dVA
DotiG. 2PESE BN 8. & APDA TSV SodS BOIY TR G503 S0
as), 6=

Options:

), % V28h
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3gh
2. % g

4gh
3. ¥ 7

Question Number : 113 Question Id : 813561753 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The minimum horizontal speed with which a body must be projected so that is goes around a
smooth vertical circular track of radius 4 m 1s (g=98m.s7%)

08 HR02) FrD K000) AVYTT G0, 4 m T(FGo i & 38 86 Heod
DOIrEotHRS) RIHVND S £ DAredS Do Jod? (g=9.8m 4

Options:

;% 7 ms™?

5> 14 m.s !

3 % 0.7 m.s?!

4 % 14 m.s !
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Question Number : 114 Question Id : 813561754 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A body 1s projected with a velocity greater than orbital velocity but less than escape velocity.

Its path 15

DE26300 WM A DI 53‘5;3{5;5.13 ot QSJZ,J}, DTN Sobd B8, eond

T (5e08 wg:m

Options:
circular

| % RTSOW

elliptical

5 8 JyTs G0

parabolic

3 % PTDLADD

hyperbolic

4

% 08 DTSODEAW

Question Number : 115 Question Id : 813561755 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020
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Find the current through the primary coil(P) of the transformer shown below?

DOBS° DBBGE FSS wo(P)S" DS HIT-LPH

nv@) P2 I s
L]
Options:
1 » 0.084
> » 0044
3 » 0.024
4 % 0014

Question Number : 116 Question Id : 813561756 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A Zener diode 1s made by

33&3_5 Gore e‘.‘ﬁa‘b"ddi)‘s ::g@

Options:
Heavily doping both p and n sides of a p — n junction diode.

| PP R RoQ GINS); P, N- PPV Bolot)n) edEr Srdsse Bodcoe oo,
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Heavily doping the p side and lightly doping the n side of a p — n junction diode.
P —n R0l GG, p DY VAT, n P VYT Jrdssnsw dobde TT".

Lightly doping the p side and heavily doping the n side of a p — n junction diode.
o D=0 ol 03.1)5& P P w)wm, n D) VQSTTA Ardgonan Baboe oo

Lightly doping both p and n sides of a p — n junction diode.

4w P~ T R08 a8, p,n- DR Boloth weuyar Ardscen dabie o

Question Number : 117 Question Id : 813561757 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The magnitude of induced emf is directly proportional to the rate of change of magnetic flux
linked with the co1l. This statement 1s known as

208 AxNETyS wo éﬁnﬁ;-g aws), mﬁ%aé DT BN 908’ Ardd oty
Giotod. & T D00tTE)?

Options:
Ohm’s law

|y 850y Do

Lenz’s law

5> % Tod Qoo

Faraday’s law
3 v FO6E Dasavo

Ampere’s law

4 % 3000306 oo
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Question Number : 118 Question Id : 813561758 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

An electric dipole with dipole moment ‘p’ 1s placed with its axis at 30° to a uniform electric field.
The work done mn rotating the dipole to a position where its axis is perpendicular to the field 1s

BTSN p (0 28 DAAG BIE)TI) T 050 w8 D63 Ao[S Fdnd 30° Sradw
BAAL) Gotrdd. &8 B BFN) ETS Voo Gkt SVIS dod D BoDIT?

Options:
1. % 2PE

2pE

—
—

.\rn’

2. %

V3 pE
3.¢ 2

4% 0

Question Number : 119 Question Id : 813561759 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

When a capacitor is connected to a battery

28 B D06 28 erd & LI D

Options:
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An alternating current flow in the circuit
SV0HNS” DSTothd 3@55 DS ot

159

No current flows n the circuit
- SVODINS” Do DENS DBToIE

A current tlow for some tome and finally 1t decreases to zero

.5 §00 2088 §o0 DA}S DIIred, SHTS SEr Tan HrdHEw BHBed

Current keeps on mncreasing and reaches maximum after some tiume

> » 3‘3’55 2aT"a0Pl) DS, ggbbéé glerS] DeVD WSS

Question Number : 120 Question Id : 813561760 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A steel wire of length 20 cm and area of cross section 1 mm? is tied rigidly at both the
ends. When the temperature of the wire 1s changed from 40 °C to 20 °C. find the change i
its tension. Given, the coefficient of linear expansion for steel is 1.1 X 10~ K~* and
young's modulus of steel is 2.0 X 10" N.m ™2,

20 cm J&, 1mm’ oSS JTRA 0 w8 G, S TS Toth DIV Gjiorr
Dot 3. & & &R 40°C Aot 20°C & APBIFYYD T SRBS" Ardy Bwded,
68, 8¢ TE e 11X 107 K™ SoBok aboh forasiw 20X 107 Nm™

Options:
. % 22N

> « 44N

AP EAMCET 2020 )
collegedunia:s
India’s largest Student Review Platform

el



AP EAMCET 2020

3 % 16 N
4. % 8N

Chemistry
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes

Question Number : 121 Question Id : 813561761 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In the Dantel cell. Zn | Zn** || Cu®* | Cu . when an external voltage is applied such that

w8 EAODS 008’ Zn | Zn*t || Cu*t | Cu & Epgp > gy OO 9305800
BT, B JAAS DTo

Options:
Zn to Cu
1 @ Zn oW Cu
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CutoZn
Cu o) Zn

No current flows

DENSBT°T0 EoGdd
3. % =

Data insufficient

" GTPoFo VOO0

Question Number : 122 Question Id : 813561762 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Calculate the energy required to convert all atoms in 4.8 g of Mg to Mg®* in the vapor state.
[E, and [E, of Mg are 740 kJ/mol and 1450 kJ/mol respectively.

48 mrd00 Mg &° (60 D63 a»ngw (i Mg™" 0srRouuT Srdhyes)
SN 389 8) ovsot.. Mg aiwg), [E;, [E; wo S 740 ki/mol 2080w 1450 kI/mol.

Options:

%t 740 kJ/mol

) % 740 kJ/mol

5 8= 1450 kJ/mol

4 « T 438 ki/mol

Question Number : 123 Question Id : 813561763 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the binding energy of electrons m a metal 1s 250 k] /mol, what should be the threshold
frequency of the striking photons in order to free an electron from the metal surface?

28 §'r808" VTRV 08 Wtk 3§ 250 k] /mol owd, 28 Jugmd) LB
Tréiddo BODIVNN T'erd 6oz 5‘@%@ Qdod?

Options:
1014 -1
1 & 6.26 X 10** s

5 x 124 x10M 7

5w 626 x20% g2

s u BARIOTET

Question Number : 124 Question Id : 813561764 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If AH > 0 and AS > 0. the reaction can proceed spontaneously at

AH > 0 S0Basw AS > 0. €0 B6[ DY oor 2O DB &'t w?

Options:
Low temperature
. % BE) D egga

High temperature

- RS egga
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All temperatures
. o) s

Will never be spontaneous

| ‘&as:;saccéorv 2000
4, %

Question Number : 125 Question Id : 813561765 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following is an example for Chain-Growth polymer?

808 T°UE" DR TIN6 D & Ircen?

Options:
Bakelite

| BSOS

Tetlon

, 87

Nylon

3, #

Terylene

4 9093

Question Number : 126 Question Id : 813561766 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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In an agricultural field. which among the following is the highest producer of methane

SaD Gortane’, §08708" A B LAOLAVT &d\d BB DA?

Options:
Wheat crop
1R B 00 Dobd

Paddy crop

Cotton crop

3 % 28 Dot

Groundnut Crop
4w D0BI0 Do

Question Number : 127 Question Id : 813561767 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
The molarity of 0.2 N Na,CO; solution will be

0.2 N Na,C0; oroee 20er8ed

Options:
. % 0.05M

> % 02M
3¢ 0.1M
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4% 04M

Question Number : 128 Question Id : 813561768 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The number of elements among 0, Cl, F,N,P,Sn, Ti, K, Sc which show more than one non-
zero oxidation state 1s

0,CLF,N,P,Sn,Ti,K,Sc Sarusei’ w88 Soff Jd s Hrd(86 eSS0t Deown
D000 QPVSTTY Vo) Dod?

Options:
2

1. %

Question Number : 129 Question Id : 813561769 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following represent the structure of methyl hemiacetal of formaldehyde?

S08 38" D Aoy a0 T e chg), DFS FRADTSR BDADB0A?

Options:

1. %
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OCHjs
R o
CH;—CH
. -
OCH;s;
OH
¢
CH:; —CH
i
A OCH;
2. ®
OH
P
H.C %.
OCH:
3.
OCH;3
H.C
» OCH;
4,

Question Number : 130 Question Id : 813561770 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Compound 'A' undergoes formation of cyanohydrins, which on hydrolysis gives lactic acid
(CH;CHOHCOOH). Therefore. compound 'A' 1s

R0 #R80 A DS TES LR D6yHREA. B 20 Fieaw WY’ o8 AN
(CH;CHOHCOOH)  96y6eioio. ows, 0o ¢daw ‘A

Options:
Formaldehyde

| T

2.%
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Acetaldehyde
D&
Acetone
s o OBES
Benzaldehyde
_ Bordr&
4, % &=

Question Number : 131 Question Id : 813561771 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Conc. HNO5 turns brown on standing due fo formation of

Qe God e HNO;3, HE0 Gorsd &t DOYER) SR

Options:
1.% NO

2, v N0z

. N,0

4. % N20s

Question Number : 132 Question Id : 813561772 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following units 1s useful in relating concentration of solution with its
vapour pressure?

0BT AS" TITY ANE), O PATHIN TR Ty ETIS B0 MES
“ouwoc_s":)ol BV e.sb%]gsa»?

Options:
Mole fraction

| & QDI°) 23500

Parts per million

3-:53 56 OADD
2.% =

Mass percentage

(073 F°HAD
;% 8%

Molality

, x 0rd8

Question Number : 133 Question Id : 813561773 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The linear shape of CO, is due to

C0; eoe0) GIS), TN T LINIL S°GE0

Options:
sp® hybridization of carbon
S6Q g, sp* RoSseaaw

1. =

2.9

AP EAMCET 2020 )
collegedunia:s
India’s largest Student Review Platform

el



AP EAMCET 2020

sp hybridization of carbon
s*dg).’f) GIWS); sp VoSESe0

pm — dm bonding between carbon and oxygen

TG\, 383D O T — dm o8
3 x Ty ey § P 0

sp® hybridization of carbon

563D g, sp? VoSBSEI0
4, %

Question Number : 134 Question Id : 813561774 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The solubility of AgBr with solubility product 5.0 X 103 at 298 K in 0.1 M NaBr solution
would be

298 K 3¢ 0.1 M NaBr graaods® 5.0 x 107 grdeiadoer owo o AgBr aog) grdrasd=

Options:
7x107° M

L™
=12

5 ¢ 2 X107 M

3 % 3x107%M

10-6
4 % 2X107° M

Question Number : 135 Question Id : 813561775 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

The pH of 1078 M HCI solution is

107° M HCI grodeesdon cws), pH =

Options:
. % 8

2. % —8

Between 7 — 8

7 — 8 206
3. %

Between 6 — 7

6 — 7 306
4.

AP EAMCET 2020

Question Number : 136 Question Id : 813561776 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following statements 1s correct about the cathode rays?
1) These rays start from anode and move towards cathode
2) They are visible with human eye
3) In presence of electric and magnetic fields. they behave like positively charged particles

4) Their characteristic does not depend on the nature of material at electrode

58 46t PDotoBo) & S0 RIS’ DB W’

1) & 3omren 836 56 Y SHE S8 B

2) & S0 AT Sold SHDEN

3) @0 S Aok 0 08 SBANG GTDIPOS Srow HT DSBo
4) T 0D g doye Dag & BBANY  BEG DED)

Options:
1, % 1

o

2,

4,

Question Number : 137 Question Id : 813561777 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following acts as a vitamin?

S0 T°¢365° DA DD T HDABAIVA?

Options:

1, %

AP EAMCET 2020 )
collegedunia:s
India’s largest Student Review Platform

el



AP EAMCET 2020

Aspartic acid
DFBS e5080

Ascorbic acid
5 D7,8)5 e300

Saccharin acid
3 S8 e300

Adipic acid

4 % DeedS 5B

Question Number : 138 Question Id : 813561778 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The charge on colloidal particles is due to

§erant Smre D YT (L SCERAD

-
| -

Options:
Presence of electrolyte
. VETE &8 S0

Very small size of particles
x SEPLO DBIEAL D W) D ML SVD

Adsorption of 1ons from the solution
EFHEA0 Aot 90T AT RN HVD
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Can’t be determined
Z)g“ﬁmﬁef bbb

Question Number : 139 Question Id : 813561779 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

When CaCl, 1s added to AgCl crystal, the defect introduced 1s

Ang “ﬂ)ﬁscésaé CGCIZ aﬁaé Ddhd 5’0o B?

Options:
Frenkel defect only

, x 2088 &0 Jrgd

Schottky defect only
, o 58 S0 g

No change

&J“Ci)b GOt G
3. %

Both Frenkel and Schottky defects

20365 B0 eI S°Frew BT
4, =

Question Number : 140 Question Id : 813561780 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The number of hydrogen bonds formed by a water molecule at normal conditions 1s

Jorden b&%@ové‘ A e DBVGB PERS WotrY 202 Bedod
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Options:

1, % 1

4.9 %

Question Number : 141 Question Id : 813561781 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Choose the correct option regarding:

Assertion: Energy of the orbital decreases with increase of ‘n’

Reason: Energy 1s required in shifting away the negatively charged electron from positively
charged nucleus

08378 MotoGow WOGN e BVVG.

G)DE0m: ‘0’ HOAS 6B Ere 38 Sbdood

S0R0: G D¥S0lS0 56 Aol ANETDF JVTAW FVAIL) 3§ BSVEID

Options:
Assertion and reasoning are correct statements and reason 1s the correct explanation for assertion
. % é;,bédea 208050 5°6830 VB B0IL S*Ges0 @;,bsoeas: ROAA a0

Assertion and reasoning are correct statements and reason 1s not the explanation for assertion

5 % 6,568 2)BAKND S*6E0 POAVH S8 S0 (yDSGERL VO DI6H A

Assertion 1s correct. reason 1s wrong
3 % qﬁabsm'a ROADRG, S700 S
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Assertion 1s wWrong. reason 1s correct

BDEDE D), S°GR0 DBADE
L™ SO) © Q0

Question Number : 142 Question Id : 813561782 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Match the following items of List-I with those of List-II

List-1 List-II
a) Nickel 1.  Electrolytic refining
b) Titanium 1.  Zone refining
¢) Germanium i11.  Van Arkel method
d) Copper 1v.  Mond process

15 D065 o eoTroy 115 D0e° o SAD woTrod 2¢ DOC.

O20-1 d0-11
(4] e
a) S L DS DS Fedaw
b) &erdodo . SDoke FEDAL
c) aé&bo&aﬁ: . I &0 S :Jg@
d) 5206 iv.  2o& DG

Options:

L x @~ @), b= @), e (i), d- ()

o B3 (iii), b—=(v), c— (i), d- (i)

3 ¢ a= @), b- (i), c- (i), d- (@)
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o @@, b->@, c-(>v), d- (i)

Question Number : 143 Question Id : 813561783 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

1-chloro butane on treatment with alcoholic potash forms

1-§8 (B3, oo FOE Terd & e56[ ROV DOYEODHE

Options:

2-butanol

2-&1:*5&33’6
1, ®

1- butene

G 1—:.13‘5&5

1-butanol

L 1- eSS
3, %

2- butene

2- mséb

4, %

Question Number : 144 Question Id : 813561784 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020 _
e collegedunia:

India’s largest Student Review Platform

el



AP EAMCET 2020

The second ionization energies of Li, Be, B and C are in the order

308" Li, Be, B 20801 € © Gral g6 350 206D S8 Bordiw.

Options:
Li > C > B > Be
1. %

, % Li >B >C > Be

3 x Be > C>B > Li

4_\;,,B:>C':>Be::-Li

Question Number : 145 Question Id : 813561785 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Tincture of 1odine 1s the common name for

B05\06 8D WOITAS B BAR WordIE?

Options:
Iodoform

no&n&f&éé

2-10dopropane
5 % 2-DABVEJTDD

2-3 % lodine solution 1n alcohol-water

- 52 °5-S° DD 2-3 % DAITES Trdeo

AP EAMCET 2020

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



Iodobenzene

4 % DOVESRD

AP EAMCET 2020

Question Number : 146 Question Id : 813561786 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What 1s the product of the reaction given below?

808 B36[ G300, &) 30 D ?

Snl
?

W

C:HsOH

CH === (CH ——0C,Hs

CH;
H;C—C—Br
CH;
Options:
CH;
H;C C CH;
5 % OC,Hj
CH,
3 % CH, CH-
4. &

AP EAMCET 2020
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CH;

H;C—C OH

CH;

Question Number : 147 Question Id : 813561787 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which complex among the following has the highest value of spin only magnetic moment
S08 RoZaTueS” B8 Foe BLrdS LoD 08 ATV DV BASIVIT Gotiod?

[Fe (CN)¢]*~, [Fe (CN)¢]*~, [Ni (CN),)*, [Ni Cl,)*"

Options:
3_
. o [Fe (CN)q]

, « [Fe (CN)g]*”

5 x [Ni (CN)L)?

4 % INiCLJ*

Question Number : 148 Question Id : 813561788 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Vapour density of a metal chloride 1s 83. If equivalent weight of the metal s 6. its atomic
weight will be

w8 &' 506 3.5‘5133‘*3@@ 83. &8 &'3ro BoVErGo 6 ©ONS, T DO &G0 Jod?

Options:
1. % 12

) % 24
3.« 18

4. % 60

Question Number : 149 Question Id : 813561789 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which factor makes Li the strongest reducing agent in aqueous solution?

20 @OranweS” Li M’Soé VAN L0DSEEI LIS (IO STEEBWD

Options:
Sublimation enthalpy
&S Doirdy

Ionisation enthalpy

| ©OWRBAS Jowrdy

Hydration Enthalpy

, o TEAS dordy
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Electron-gain enthalpy

DS g‘.‘:ﬂ5 &)o{;!“bb
4. % 2

Question Number : 150 Question Id : 813561790 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

What by-product is formed in the process of making phenol from cumene?

©ERLS Aol DTS SaIrEBaL DS’ DBy &b Sairadisw DA?

H;C CH;

(1) Oz

(11) H*/ H-,O

Options:
propan-2-ol

n-propanol

N-2 00

2. %
propanal

3 % DOTS

propan-2-one
- T DD-2-50

Question Number : 151 Question Id : 813561791 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following is the common oxidation state for ‘transition’ elements?

808 TS’ HBIGD Aruses’ FEron B 86N 2O D6 ?

Options:
1 % +3

2. % T1

3. 12

Question Number : 152 Question Id : 813561792 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following represents disproportionation of potassium chlorate?
$o6TeS" Teraaio §6E5 DI S B[R0 APDIIG DB?
Options:
_ ZREI0, —ZRCIL30,
1..%

, « 3KCl03 — 2KClO, + KClO4

, o 4+KClO3 — 3KClO, + KCl
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None of the options are correct
D 2781 VOIS ST

AP EAMCET 2020

Question Number : 153 Question Id : 813561793 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The bond stability of N, N, and N;_ varies as

N2, Ny, N, © 206 26850 38 Svo

Options:
N o N2

_— N, < N, <N,
-1 - p
2_ ) —

3 o N, <N, <N,
— 2_

4 % N, < NZ < N

Question Number : 154 Question Id : 813561794 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Work done by an ideal gas at a constant volume 1s

?86 SDRVDODTEI0 DG €3G0 ,T°0INY WO DA =

Options:

AP EAMCET 2020
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Question Number : 155 Question Id : 813561795 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which acid among the following has the highest pK, value?

Sof e 0AVVS” VSRS PK,; Jend SOAD eso B?

Options:
1. % HCI

2 « HF

3, B

o STOT

Question Number : 156 Question Id : 813561796 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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The 1onic product of water . with increase 1n temperature.

a6 DANS, DS esairDe we0 Dend

Options:
Remains constant
fgdan" GO

Increases
2 G

Decreases
ég.)a‘n

May increase or decrease

bdﬁﬁtﬁ)‘) oo @ﬁ&')@a
4. % o

Question Number : 157 Question Id : 813561797 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In the extraction of silver. zinc metal 15 used as a reducing agent. What 1s the molecular
structure of the zinc complex formed in this reaction?

06 O%ga‘aﬁ Zn &°3ran SaDsosm T dord). & tﬁﬁSEﬁﬁ Ddhé ‘©oS ::nggmy aas),
o) D07 80 20?
Options:

Tetrahedral
v ammébm
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Linear
2 ® DD

Bent
&30

3. ™

Square planar

, x BROOR D20

Question Number : 158 Question Id : 813561798 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following polymers can be formed by using caprolactam monomer unit?

$oBT S’ Y ergad ArS26 ArdRAD EHAIr A Sairdy Sobrv 6 D6?

Options:
Nylon-6.6

| x DUr-6,6

Nylon-2-nylon-6

5 % QDET-2-JPD-6

Melamine polymer

LD D'O0E

3. %

Nylon-6

4 @ DT-6
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Question Number : 159 Question Id : 813561799 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which species among the following doesn’t show disproportionation reactions?

0BT S" dJ WO BB (D85°AB) 8?

Options:

. x ClO

, % Clog

1 o RB;

Question Number : 160 Question Id : 813561800 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In the chemical reaction A — B. what 1s the order of the reaction? Given that the rate of
reaction doubles if the concentration of A 1s mcreased four times.

4 = B 93 6o zbﬂlge? A TESRD 4 B Dowdd, édsaw agu;‘a DA, IO, €3
£36] $rosn Densd

Options:

1% 2

2. % 1.5

s 95
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